%) i (2wt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

8() 3() 5() 6
9() 2(J) u() 3
100) 6() 8012
6( ) 7()18 (] sg%

7o

www.mathemonsterchen.de

%) i (2wt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

150 ) 6
8 () 7
16 ) 9]
13 ()17 ()

%) (D) wnt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

W) 9 8() 3
12() () 60 )14
1M () 50)200) u
13170 9 sg%

e W
www.mathemonsterchen.de

%) wd (D) wnt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

6 () 7 2011
17(J)11 ) 9() 3
1200 w(J)19() 3
9 ) 20 8@153%

e
www.mathemonsterchen.de
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%) i (2wt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

200) 8() #( ) 5
190)200) 3() 2
1700 9() 9 1

13 () 6@11@18%%

7o

www.mathemonsterchen.de

%) i (2wt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

18 () 5 ()
120) 9
15 ) 2
9 () [

%) (D) wnt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

1w J)18() 9() 5
M) #7000 30 1
6 () 5()16() 5
8 () 7( 3@123%3

e W
www.mathemonsterchen.de

%) wd (D) wnt (D)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

18 ) 80 ) #( )17
9() 20150
17120 8() 3
8 () 6] o@mg%

e
www.mathemonsterchen.de




+ +

+

+ o+

+

+ + |l



	Seite 1
	Seite 2
	Seite 3
	Seite 4

